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A block of mass m; = 5.7 kg on a frictionless 30° inclined plane is
connected by a cord over a massless, frictionless pulley to a second
block of mass m; = 3.5 kg hanging vertically as shown in the figure.
Find

(a) The tension in the string

(b) The acceleration of mass m;.
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A roller-coaster car has a mass of 500 kg when fully loaded with passengers. The car passes over
a hill of radius 15 m (see the figure). At the top of the hill, the car has a speed of 8 m/s.

(a) What is the acceleration of the car at the top of the hill?

(b) What is the force of the track on the car at the top of the hill?
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An 8.0 kg block is pushed against a vertical wall by a horizontal

force F as shown in the figure. The coefficients of friction between

the block and the wall are p = 0.60 and B 0.30. Calculate the
. .

minimum value for (F) that will prevent the block from slipping.




